Homework 5 Solutions

21st February 2005

9.

a) We integrate the pdf, set it equal to 1 and solve for d.

df ;%dy = —% = 1 Evaluate where function is defined (1, inf). 4 =1
so d=2

b) B(Y) = [ Hdy = 5 =2

y3 y

¢)Look at E(Y?) = [ %dy = 2% In(y). Natural log is unbounded when y
approaches infinity.

10. To find the distribution functions integrate the pdfs and make sure that
F(left endpoint)=0 and F(right end point)=1. The pdfs are on the left and the
cdfs are on the right

a) Fz) = Z# for -1 < <1
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b)F(z) =2 for -1 <z <1
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18) First find F(x). Intergrate f(x) and find C. F(z) =

_ (meat1)?
a) F(7T,64) =" = .64
Tesa+1=+.64x4

T.64 — .6

b) F(?T_25) = 7(ﬂ‘254+1)2 = 25
T 25 — 0

c)F(m.s1) 7(77.8144,»1)2 = .81

T8l — .8

~—;— in reduced form.



